नाशिक महानगर पालिका, नाशिक., उद्याने व वृक्ष प्राधिकरण विभाग कोटेशन नोटीस

जा.क्र./उद्यान/उनि-०५/ १६६/२०२३, दि. ०७/०८/२०२३

कामाचे नाव : - निवन नाशिक विभागतील प्रभाग क्र. २४ मधिल सिडको बालोद्यान येथिल कारंजा परिसरात फलॉवर बेड विकसीत करणे बाबत.

कामाची मुदत :- ३० दिवस / ०१ महिना

कोटेशन फॉर्म मिळण्याची तारीख : दि. ०८/०८/२०२३ ते ११/०८/२०२३

कोटेशन फॉर्म स्विकारण्याची तारीख : दि. ११/०८/२०२३ दुपारी - ०३.०० पावेतो

कामाचा तपशिल :-

Sr.	SSR	Item	Description of Item	Quantity	Rate	Unit	Amount
No.	No.	code					
1	46.09	1540	Dismantling brick masonry in lime or	2.16	351.80	Cumt.	759.88
			cement mortar and stacking the	Cumt.			
			materials as directed with all leads, lifts etc.				
2	24.16	840	Providing and laying Cast in	0.36	7327.00	Cumt.	2,637.72
			situ/Ready Mix cement concrete M-15	Cumt.			
			of trap/ granite/quartzite/ gneiss metal for				
			coping to plinth or parapet, moulded or				
			chamfered as per drawing or as directed				
			including steel centering, plywood/ steel				
			formwork compacting, roughening them if				
			special finish is to be provided, finishing				
			uneven and honeycombed surface and				
			curing etc. complete. The Cement Mortar				
			1:3 plaster is considered for rendering				
			uneven and honeycombed surface only.				
			Newly laid concrete shall be covered by				
			gunny bag, plastic, tarpaulin etc. (Wooden				
			centering will not be allowed.) With fine				
	22.44	0.50	aggregate (Crushed sand VSI Grade)				
3	32.11	968	Providing sand faced plaster externally in	7.06	722.00	Sqmt.	5,097.32
			cement mortar using approved screened	Sqmt			
			sand, in all positions including base coat of				
			15 mm thick in cement mortar 1:4 using				
			waterproofing compound at 1Kilogramper				
			cement bag curing the same for not less				
			than 2 days and keeping the surface of the				
			base coat rough to receive the sand faced treatment 6 to 8 mm thick in cement				
			mortar 1:4 finishing the surface by taking out grains and curing for fourteen days				
			scaffolding etc. complete.				
4	2.29b	104	Supplying soft murum at the road site,	21.03	922.00	Cumt.	19,389.66
4	2.290	104	including conveying and stacking complete.	Cumt.	922.00	Cuiiit.	19,369.00
5	2.30	105	Spreading hard murum/ soft murrum/	21.03	83.00	Cumt.	1,745.49
,	2.30	103	gravel or kankar for side width complete	Cumt.	65.00	Cuille.	1,743.43
6	35.13	1088	Providing and applying two coats of water	18.84	83.00	Sqmt.	1,563.72
	33.13	1000	proof cement paint of approved	Sqmt.	65.00	Jqiiit.	1,303.72
			manufactureand of approved colour to the	Jqiii.			
			manufactureand of approved colour to the	l		<u> </u>	

plastered surfaces including scaffolding if necessary, cleaning and preparing the surface, watering for two days etc. complete. 7 Preparing Flower Bed: Excavating the ground to a required depth of 20cms. Removing & conveying unwanted stuff to a required distance as directed. Filling fresh garden soil & manure in excavated area in 3:1 proportion to a required height of 20cms.
surface, watering for two days etc. complete. 7 Preparing Flower Bed :- Excavating the ground to a required depth of 20cms. Removing & conveying unwanted stuff to a required distance as directed. Filling fresh garden soil & manure in excavated area in
complete. Preparing Flower Bed :- Excavating the ground to a required depth of 20cms. Removing & conveying unwanted stuff to a required distance as directed. Filling fresh garden soil & manure in excavated area in
Preparing Flower Bed :- Excavating the ground to a required depth of 20cms. Removing & conveying unwanted stuff to a required distance as directed. Filling fresh garden soil & manure in excavated area in
ground to a required depth of 20cms. Removing & conveying unwanted stuff to a required distance as directed. Filling fresh garden soil & manure in excavated area in
Removing & conveying unwanted stuff to a required distance as directed. Filling fresh garden soil & manure in excavated area in
required distance as directed. Filling fresh garden soil & manure in excavated area in
garden soil & manure in excavated area in
garden soil & manure in excavated area in
Mixing garden soil and manure thoroughly
well leveling. Watering on previous night.
Planting seeding of required annuals 25cms
apart. Maintaining till well established by
watering, weeding, stirring, replacing
casualties etc. complete.
Schedule Of Rate For Horticultural Works
Parks And Gardens , Nashik For 14-15
Basic Rate = 405.00 + Add Corp. Area 5%
Basic Rate = 405.00 + Add Corp. Area 5% = 20.25
=20.25
=20.25 Complete Total = 425.25
=20.25 Complete Total = 425.25 Total Amount Rs. 38,074
=20.25 Complete Total = 425.25 Total Amount Rs. 38,074 Add GST 18% 6,853

एकूण प्राकलन रक्कम रूपये - ४९,४७४/-

अक्षरी रक्कम रूपये - एकोणपन्नास हजार, चारशे चौऱ्याहत्तर मात्र

अटी शर्ती :

१) सदरकामी लागणारे कोणत्याही प्रकारचे आवश्यक साहित्य मनपा पुरविणार नाही तसेच सदरकामी होणारा मजुरीचा, वाहतुकीचा व ईतर अनुशंगिक खर्च हा मक्तेदारास करावयाचा आहे. २) सदर कामाबाबतची सविस्तर माहिती व कामाचे कोटेशन फॉर्म विभागाचे उद्यान निरीक्षक/सहा. क. अभियंता यांचेकडे सार्वजनिक सुटीचे दिवस सोडून उपरोक्त नमूद मुदतीत कार्यालयीन वेळेत निवन नाशिक विभागाचे कार्यालयात उपलब्ध करून देण्यात येईल. ३) सदर काम विभागाचे उद्यान निरीक्षक/सहा. क. अभियंता सुचिवतील त्याप्रमाणे विहित मुदतीत पुर्ण करून द्यावे लागेल. ४) सदर कामाचे कोटेशन दर स्विकारण्याचा अथवा नाकारण्याचा अंतिम अधिकार हा मा. उप अभियंता, उद्यान यांचा राहिल. ५) सदरकामी कोणत्याही प्रकारचे आगाऊ देयक मनपाकडून मिळणार नाही.

ज्याकोणास वरील नमूद काम वरील नमूद मुदतीत व अटिशर्तीनुसार करावयाचे असेल त्यांनी याबाबतचे आपले कोटेशन दर विहित नमुन्यात बंद पाकिटात उद्याने व वृक्ष प्राधिकरण निवन नाशिक विभागाचे कार्यालयात दि. ११/०८/ २०२३ रोजी दु. ०३.०० वाजेपावेतो आणुन द्यावेत.

उप अभियंता उद्यान नाशिक महानगर पालिका, नाशिक.

NASHIK MUNICIPAL CORPORATION, NASHIK **GARDEN & TREE AUTHORTY DEPARTMENT**

E- Quotation (2022-23)

Name Of Work: - Preparing flower bed at Cidco Balodyan in P. No. 24, New Nashik division, Nashik.

Cost put to Quotation Rs.- 49,474/-

Issue of Blank Quotation form - 08/08/2023 to 11/08/2023

Submission of sealed Quotation form -11/08/2023

Time Limit - 06 Day

Sr.	SSR	Item	Description of Item	Quantity	Rate	Unit	Amount
No.	No.	code					
1	46.09	1540	Dismantling brick masonry in lime or cement mortar and stacking the materials as directed with all leads, lifts etc.	2.16 Cumt.	351.80	Cumt.	759.88
2	24.16	840	Providing and laying Cast in situ/Ready Mix cement concrete M-15 of trap/ granite/quartzite/ gneiss metal for coping to plinth or parapet, moulded or chamfered as per drawing or as directed including steel centering, plywood/ steel formwork compacting, roughening them if special finish is to be provided, finishinguneven and honeycombed surface and curing etc. complete. The Cement Mortar 1:3 plaster is considered for rendering uneven and honeycombed surface only. Newly laid concrete shall be covered by gunny bag, plastic, tarpaulin etc. (Wooden centering will not be allowed.) With fine aggregate (Crushed sand VSI Grade)	0.36 Cumt.	7327.00	Cumt.	2,637.72
3	32.11	968	Providing sand faced plaster externally in cement mortar using approved screened sand, in all positions including base coat of 15 mm thick in cement mortar 1:4 using waterproofing compound at 1Kilogramper cement bag curing the same for not less than 2 days and keeping the surface of the base coat rough to receive the sand faced treatment 6 to 8 mm thick in cement mortar 1:4 finishing the surface by taking outgrains and curing for fourteen days scaffolding etc. complete.	7.06 Sqmt	722.00	Sqmt.	5,097.32
4	2.29b	104	Supplying soft murum at the road site, including conveying and stacking complete.	21.03 Cumt.	922.00	Cumt.	19,389.66
5	2.30	105	Spreading hard murum/ soft murrum/ gravel or kankar for side width complete	21.03 Cumt.	83.00	Cumt.	1,745.49
6	35.13	1088	Providing and applying two coats of water proof cement paint of approved manufacture and of approved colour to the plastered surfaces including scaffolding if necessary, cleaning and preparing the surface, watering for two days etc. complete.	18.84 Sqmt.	83.00	Sqmt.	1,563.72

7	Preparing Flower Bed: Excavating the ground to a required depth of 20cms. Removing & conveying unwanted stuff to a required distance as directed. Filling fresh garden soil & manure in excavated area in 3:1 proportion to a required height of 20cms. Mixing garden soil and manure thoroughly well leveling. Watering on previous night. Planting seeding of required annuals 25cms apart. Maintaining till well established by watering, weeding, stirring, replacing casualties etc. complete. Schedule Of Rate For Horticultural Works Parks And Gardens, Nashik For 14-15 Basic Rate = 405.00 + Add Corp. Area 5%	16.18 Sqmt.	425.25	Sqmt.	6,880.54
	Basic Rate = 405.00 + Add Corp. Area 5% = 20.25 Complete Total = 425.25				
	·		Total Amount Rs.		38,074.33
			Add GST 18%		6,853.37
8	Royalty Charges for All Other Minerals to be	21.03	216.18	Cumt.	4,546.26
	paid to Govt.	Cumt.			
		Tota	l of item no	49,473.96	

Say Rs.:- 49,474.00

Say Rs. (In words):- Forty Nine Thousand, Four Hundred Seventy Four Only.

I / We have gone through the all details of the work as mentioned above. As well as, have gone through the details of all the Terms and conditions set for this work. I / We Are hereby agreed to execute the above work accepting all these Terms & Conditions

Words-----Percentage) Above / Below estimated rates.

Contractor Signature

Deputy Engineer
Garden Department
Nashik Municipal Corporation, Nashik